Rk 2 6 4F

OFJIZK  (BAL : Ba/kg)

[Tk« TR & 4]

_ SR AT ke = v 3
K H
A 134 A 137 9 w5 131
2H 24 X2 | ST [0.77 AE] | s S [0.62 RG] | B 407 [0. 61 ]

Ok (HAL @ Ba/kg)
[kt : KK ]

_ T 2w 2 T = v %
Bk A - -
A 134 T 137 3 5% 131
2H4B%2 | mHSHT 063 K] | B S [0. 75 Kimi] | B S 09 [0. 81 K]

(TRAkH - B K5]

e Bt o 4 T a v %
& w134 w137 9% 131
2 A 25 H%3 | M Eiud (047 K9] | B & 090060 R3] | B & 409 [0. 48 ]

(TR« = Skl A K (it 1 6 M Kk 5]

ok it v Hetk = o
& o™ A 134 o™ A 137 9 3% 131
224 B%2 | i Eid[0.68 K] | B & A0, 68 K] | i & 49T [0. 66 ]

) v aNoiE [Tk o] IXMmHRAME T, Hho Mitshd) Lnik
FUE. MR AL @Ba/kg DRIE T, HUHHEME R S ot = & % 0k L £,
BIEIH TR TR 2IMETH Y | B ORIE T,
A URas CHIE L CH ., BEICHRHRAYE I ZE L £,

K1 BHIRFE &3,

%2
%3

[EREbEBE ] Hris R IR IEER B R 2P FEET

(AR ] —ffbRE AN RRrseeT




